BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREKXEIRAO)
UNBEEFHFS) SH4%FE1H1H8
R s | A0 Oisk 7% 21k 3k 4% 57k
5 % g8 % £ = L = g8 x L ©

ENY = 1TH 1923 | 4,087 16 20 13 15 12 20 21 15 16 19 26 16
ENY = 2TH 767 1,644 2 7 4 5 3 7 5 7 11 5 9 7
B/ 3TH 1416 | 2,736 9 5 8 4 14 6 9 7 13 7 12 9
EVINY = 4TH 1,782 3517 11 11 19 6 8 15 13 15 12 15 10 17
HINE 5TH 2093 | 3,734 12 11 14 15 15 12 11 14 17 13 13 11
H/IMNE 6TH 1,799 | 3,234 5 5 11 9 10 13 11 11 13 8 10 9
mINE 1TH 3096 | 5245 19 14 22 10 23 14 13 12 13 18 17 20
mINE 2TH 1,291 2,155 8 11 4 5 8 8 7 2 7 6 8 10
m/IhNE 3TH 2878 | 5210 12 13 23 16 12 20 18 17 22 11 10 10
mINE 4TH 1,793 | 3,245 11 7 11 8 4 5 10 12 11 8 5 10
/NG 5TH 2,144 | 3,789 17 15 13 8 12 15 12 12 10 13 16 12
m/INE 1TH 1,008 | 2,142 10 5 5 10 8 8 6 7 9 5 8 6
mE/NhNE 2TH 1,714 | 3,417 3 2 7 4 7 8 7 6 7 8 9 5
mE/NhNE 3TH 1,746 | 3,354 10 9 11 5 17 8 19 13 19 11 12 9
mE/NhNE 4TH 1,607 | 3,224 8 8 9 8 11 5 5 10 14 6 13 12
m/NhNE 5TH 2,020 | 3,788 12 13 12 12 19 14 16 9 15 13 12 11
mE/NhNE 6TH 2,394 | 3,951 6 7 9 13 9 7 16 7 6 11 13 8
mE/NhNE 7TH 3,241 5,471 16 17 9 15 20 8 16 15 12 19 23 18
m/NhNE 8TH 2,072 | 3,551 24 12 19 16 11 9 20 13 17 9 9 10
d/hE 1TH 1,296 | 2,271 4 5 9 3 7 5 5 9 7 3 12 8
d/hE 2TH 2,867 | 5,261 19 6 12 19 14 20 12 21 31 20 14 13
d/hE 3TH 1,351 2,524 8 8 15 4 9 9 10 9 10 6 14 14
d/hE 4TH 2,287 | 4,481 18 17 18 16 26 23 19 18 20 21 16 21
d/hE 5TH 1,746 | 3,030 13 10 5 6 13 9 11 5 1 17 8 7
d/hE 6TH 2,486 | 4,581 13 13 16 9 13 15 16 13 20 17 24 14
d/hE 7TH 1,486 | 3,240 15 14 17 15 19 7 16 16 18 16 16 16
dt/ha 8TH 1679 | 3,704 13 12 4 14 14 16 17 14 14 11 15 19
&8 51,982 | 96,586 314 277 319 270 338 306 341 309 365 316 354 322
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SH45E1A1H
G 67 Ti% 8i% 9% 107% 115 125% 135% 147% 155%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 12 19 18 22 21 23 17 21 16 15 23 21 14 15 27 19 19 24 22 14
HING 2TH 9 4 5 7 9 5 8 9 2 3 5 8 7 9 8 8 9 8 8 7
ENY= 3TH 6 12 10 14 15 8 11 9 9 14 7 9 23 7 9 14 17 15 9 11
HING 4TH 17 12 21 19 12 20 17 17 14 19 7 13 13 16 12 16 12 11 9 8
EXINY = 5TH 13 11 16 15 11 12 19 6 13 8 11 11 11 11 9 9 6 12 7 10
ENY= 6TH 15 7 6 11 11 16 6 13 11 9 15 11 17 9 9 16 9 13 11 13
NG 1TH 19 14 13 16 16 16 16 17 19 14 18 18 17 14 34 10 19 10 21 15
NG 2TH 3 5 3 7 13 3 10 1 6 5 9 7 3 15 9 3 5 6 4 3
m/INE 3TH 20 13 13 11 13 22 15 12 18 18 11 19 25 24 14 23 21 23 19 17
NG 4TH 9 8 7 9 5 15 12 15 12 10 8 6 4 15 11 7 13 16 8 7
NG 5TH 12 5 15 14 7 7 10 8 13 12 20 5 12 11 17 19 19 18 16 21
mE/INE 1TH 7 7 10 5 7 8 9 12 11 4 12 8 14 8 7 12 10 13 9 13
mE/NhNE 2TH 15 15 9 8 15 9 3 13 16 8 15 12 8 15 15 17 12 15 17 15
m/NhNE 3TH 13 12 12 12 11 10 22 15 19 23 14 11 10 12 22 11 19 6 19 12
mE/hNE ATH 11 13 15 14 10 20 18 16 12 11 17 15 13 22 15 21 13 10 13 13
mE/NhNE 5TH 19 11 16 10 12 14 14 13 10 17 11 7 17 9 12 12 9 16 17 16
mE/hNE 6TH 11 7 10 12 9 14 11 7 8 11 15 9 6 11 9 6 5 13 9 5
m/hNE 7TH 22 21 14 16 17 16 11 16 17 15 14 12 17 15 18 5 9 12 12 17
m/hNE 8TH 10 16 17 10 10 8 12 9 7 8 6 8 9 5 7 7 11 2 10 7
d/hE 1TH 8 8 10 8 9 7 6 7 10 5 11 12 8 7 9 8 10 8 6 9
d/hE 2TH 23 17 24 20 30 13 17 10 17 17 25 18 15 17 23 25 21 18 20 19
d/hE 3TH 7 4 9 10 11 1 8 10 7 7 10 12 9 5 8 10 4 7 13 8
d/hE ATH 20 18 22 12 21 17 21 13 23 14 13 19 18 14 28 22 19 13 22 12
d/hE 5TH 8 12 10 7 8 8 15 9 12 9 6 12 5 10 12 10 4 8 13 12
d/hE 6TH 22 15 10 13 17 18 11 15 21 23 16 11 16 16 17 14 18 15 21 7
d/hE 7TH 8 22 12 15 22 16 16 13 13 8 14 14 13 6 17 20 11 23 12 18
dt/ha 8TH 16 19 19 15 20 19 20 21 15 19 17 28 18 20 13 20 13 25 19 28
=X 355 327 346 332 362 345 355 327 351 326 350 336 342 338 391 364 337 360 366 337 \
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BT T &5 -E55 - B&h et GIFIRX)

BT BAl-F55-B&h etk (EREAXG/RAD)

UNBEEFHFS) SH45E1A1H
G 167% 175% 187% 197% 207% 215% 22i% 23i% 247% 255%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 21 27 19 16 17 27 24 23 24 20 26 21 24 22 22 23 27 22 24 25
ENY= 2TH 8 8 6 12 9 5 9 10 11 11 13 10 8 10 9 18 6 8 10 8
ENY= 3TH 7 11 8 14 14 12 12 9 12 14 18 17 19 8 17 16 20 25 20 21
HING 4TH 18 10 15 9 21 8 11 16 12 26 19 23 14 22 29 27 19 25 18 18
EXINY = 5TH 10 17 10 16 10 14 12 13 14 19 17 20 19 21 24 25 36 32 29 38
ENY= 6TH 7 4 15 9 15 15 20 13 12 13 24 24 19 30 22 22 23 17 27 25
NG 1TH 16 11 19 22 9 15 16 19 23 23 28 27 22 30 49 33 37 45 48 37
NG 2TH 6 10 3 2 12 5 8 7 4 5 10 10 11 16 20 22 14 20 17 10
m/INE 3TH 15 17 17 17 23 22 20 14 14 28 45 31 25 27 32 35 39 33 47 43
NG 4TH 15 14 10 12 10 12 17 8 18 19 18 18 23 16 30 19 29 24 25 30
NG 5TH 13 21 17 20 19 17 14 17 30 16 19 26 27 11 30 21 33 25 35 23
m/INE 1TH 11 10 7 11 12 15 12 11 10 18 11 10 15 13 16 8 10 12 11 17
mE/NhNE 2TH 18 16 15 22 17 16 18 17 21 25 18 17 21 19 21 17 17 33 21 13
m/NhNE 3TH 14 14 16 13 12 12 12 12 21 8 15 13 19 13 22 18 28 22 29 23
mE/hNE ATH 12 13 20 10 17 12 13 12 21 16 21 11 22 10 10 20 24 14 20 19
mE/NhNE 5TH 15 10 14 16 14 12 13 21 26 14 20 23 22 14 32 29 28 19 31 29
mE/hNE 6TH 7 6 10 12 9 8 10 20 16 17 18 18 18 27 28 22 32 47 35 27
m/hNE 7TH 16 13 13 15 18 20 19 14 19 22 30 40 36 29 36 44 43 43 36 48
m/hNE 8TH 6 8 5 16 8 11 13 10 8 13 24 19 27 27 35 26 25 35 41 22
d/hE 1TH 3 11 2 5 6 12 7 12 9 9 13 13 12 7 16 12 14 23 16 14
d/hE 2TH 16 16 25 16 19 31 21 22 26 27 17 33 30 35 38 31 43 28 35 26
d/hE 3TH 8 7 9 8 10 11 13 7 13 14 20 18 14 19 20 30 25 25 25 25
d/hE ATH 16 23 23 19 20 19 20 20 20 18 26 10 24 22 32 23 29 34 38 25
d/hE 5TH 9 6 11 11 9 10 13 12 8 14 15 11 11 14 18 23 32 26 29 35
d/hE 6TH 17 15 7 22 13 11 19 22 20 23 22 20 35 26 33 39 37 33 36 34
d/hE 7TH 15 17 19 22 13 14 14 13 18 18 24 17 19 14 20 22 14 18 19 20
dt/ha 8TH 18 25 21 10 30 17 33 19 24 12 15 24 14 21 12 16 28 22 13 21
&5 337 360 356 377 386 383 413 393 454 462 546 524 550 523 673 641 712 710 735 676
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SH45E1A1H
R 267% 27i% 287% 297% 307% 315% 325% 33i% 3475 35i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 19 27 22 20 24 22 33 24 17 23 29 26 23 23 20 27 34 21 22 24
ENY= 2TH 10 3 10 9 11 12 8 3 7 9 5 9 7 7 7 9 8 3 12 11
ENY= 3TH 19 19 15 20 19 18 14 11 19 13 13 15 19 16 22 13 14 14 13 18
HINE 4TH 20 22 17 22 23 30 14 23 29 19 10 18 25 23 29 16 21 21 25 34
HINE 5TH 32 26 28 25 29 27 33 33 28 31 25 25 30 28 24 26 30 25 22 29
HINE 6TH 26 26 22 21 25 15 31 19 22 22 20 29 22 16 20 12 18 22 24 17
NG 1TH 45 26 39 55 54 45 36 41 45 46 40 26 45 30 32 36 34 26 45 39
NG 2TH 23 20 20 19 21 16 17 11 23 24 17 12 23 12 25 18 16 12 18 12
m/INE 3TH 32 42 38 46 44 45 40 29 37 28 35 44 37 28 31 35 39 40 29 46
NG 4TH 30 16 24 25 28 24 32 19 26 25 25 16 26 25 22 18 27 18 23 18
m/IhNE 5TH 23 33 31 25 35 19 32 26 32 29 26 29 23 30 32 26 32 29 39 33
m/INE 1TH 13 5 14 15 6 16 15 4 12 10 13 10 9 10 7 8 13 8 10 10
mE/NhNE 2TH 15 15 15 13 15 18 22 16 13 15 11 12 13 14 19 8 17 16 16 16
m/NhNE 3TH 26 30 19 16 20 19 21 17 21 19 19 18 25 13 17 18 12 12 15 21
mE/hNE ATH 14 16 21 15 13 15 15 18 19 16 20 15 17 10 14 19 20 19 11 15
mE/NhNE 5TH 30 18 28 17 34 20 26 22 19 17 17 15 25 27 28 27 22 20 31 23
mE/hNE 6TH 31 33 48 37 30 25 21 33 44 29 29 30 35 33 30 20 35 29 37 31
m/hNE 7TH 45 40 60 41 40 35 38 37 42 43 41 39 44 41 43 44 41 25 26 28
m/hNE 8TH 27 27 40 35 36 21 21 40 43 32 31 18 24 24 22 28 32 17 27 24
d/hE 1TH 13 13 20 22 13 23 15 14 25 13 14 19 14 17 25 13 15 15 20 18
d/hE 2TH 47 43 40 40 39 29 34 30 27 38 18 27 44 37 29 30 27 39 26 24
d/hE 3TH 19 18 17 20 20 23 28 17 23 19 14 16 14 22 18 12 15 19 23 13
d/hE ATH 39 26 35 27 31 38 26 21 28 23 39 31 28 21 36 20 28 36 32 25
d/hE 5TH 21 20 34 19 32 18 26 27 13 17 24 22 17 21 29 16 24 19 20 20
d/hE 6TH 28 30 29 39 28 21 34 24 26 38 32 39 40 27 26 30 34 31 22 38
d/hE 7TH 16 30 21 21 28 22 27 19 12 12 22 24 14 18 24 18 24 22 25 20
dt/ha 8TH 19 22 11 15 20 23 17 13 22 18 22 12 19 21 26 19 15 11 15 17
&5 682 646 718 679 718 639 676 591 674 628 611 596 662 594 657 566 647 569 628 624 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SH45E1A1H
G 367 375 38 395% 407% A% 425% 435% 447 457%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 43 15 23 19 27 31 22 23 29 28 23 18 32 35 15 28 40 33 26 23
ENY= 2TH 7 8 16 6 5 12 8 8 9 6 8 4 4 10 20 7 8 9 20 13
ENY= 3TH 15 26 18 11 23 14 19 16 12 13 15 13 13 20 20 24 20 17 23 22
HINE 4TH 20 23 27 24 31 31 35 29 24 29 20 16 27 26 27 18 17 21 23 25
EXINY = 5TH 25 27 30 22 35 26 24 26 24 26 34 20 27 19 31 20 25 27 39 30
HINE 6TH 19 21 27 12 18 18 25 18 29 17 23 16 22 20 19 16 17 27 35 23
NG 1TH 44 43 49 37 37 43 39 37 38 34 42 29 30 38 39 39 48 42 45 49
NG 2TH 16 15 17 15 15 15 13 17 16 15 18 14 16 14 23 15 15 17 19 16
m/INE 3TH 39 35 43 38 38 32 32 37 32 31 41 37 29 31 36 29 35 26 44 43
NG 4TH 19 16 20 16 24 20 13 16 25 11 17 31 27 23 27 17 16 18 28 22
m/INE 5TH 26 26 28 17 25 21 17 24 30 25 21 28 19 24 23 25 24 20 26 31
m/INE 1TH 11 13 15 26 14 9 11 7 15 12 12 11 14 9 16 11 16 16 17 12
mE/NhNE 2TH 22 19 20 13 17 12 15 10 16 11 20 12 19 19 18 22 22 23 17 16
m/NhNE 3TH 24 22 21 14 18 27 28 26 21 25 16 28 25 27 29 18 22 18 31 28
mE/hNE ATH 22 18 20 21 10 10 27 23 20 19 23 14 20 20 23 25 24 31 22 18
mE/NhNE 5TH 23 28 27 33 22 23 21 27 22 23 30 16 25 21 22 26 26 22 35 17
mE/hNE 6TH 33 19 28 22 21 20 27 23 24 20 20 18 28 21 26 16 25 29 34 16
m/hNE 7TH 37 40 42 31 49 36 47 32 37 35 46 30 34 31 45 35 40 38 45 33
m/hNE 8TH 25 26 36 14 28 33 32 31 22 16 26 22 29 28 24 27 31 17 28 39
d/hE 1TH 11 11 21 14 17 18 13 15 12 14 21 21 24 14 15 24 23 11 19 12
d/hE 2TH 39 37 36 29 36 41 40 34 28 23 38 32 37 30 33 42 46 30 44 38
d/hE 3TH 19 13 8 27 20 13 19 16 13 11 20 14 9 14 16 18 22 17 21 13
d/hE ATH 40 31 30 25 26 30 34 31 30 20 31 22 36 25 26 29 31 34 25 27
d/hE 5TH 24 9 18 17 27 23 13 14 15 21 18 19 21 12 19 14 29 29 29 19
d/hE 6TH 24 39 36 29 31 33 37 27 30 31 37 25 33 34 35 26 30 30 31 29
d/hE 7TH 18 20 18 16 23 20 24 14 27 16 19 21 24 23 31 20 25 20 19 24
dt/ha 8TH 19 24 24 20 20 26 15 23 25 24 19 30 36 30 24 24 28 33 29 27
&5 664 624 698 568 657 637 650 604 625 556 658 561 660 618 682 615 705 655 774 665
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BT T HAl-FE55A-Bxhl #Hitx (FREXEIEADO)
UNEEFS) SH45E1A1H
R 467% 475% 487% 497i% 507% 517% 527% 537% 547% 557%
5 x 5 % 5 % 5 = 5 = 5 = 5 % 5 X 5 = 5 g

QY= 1TH 35 34 45 41 37 36 36 25 41 37 39 29 31 34 36 25 40 26 19 20
QY= 2TH 20 16 11 15 17 14 23 20 15 19 11 14 9 12 21 16 15 12 15 7
ENY= 3TH 18 20 24 23 20 25 33 23 33 22 24 21 29 21 16 14 28 23 17 13
Y= 4TH 23 23 21 26 22 22 27 20 35 27 27 26 19 20 29 26 21 23 15 20
HINE 5TH 32 29 23 23 29 25 24 23 26 17 34 28 26 25 27 24 23 29 24 18
HINE 6TH 20 23 27 27 31 26 21 23 26 24 24 16 28 16 32 38 19 26 20 17
NG 1TH 38 44 44 41 57 46 43 47 48 49 42 39 51 42 42 44 32 34 26 31
LN = 2TH 17 16 17 9 25 22 19 21 31 16 20 14 21 21 13 9 17 17 14 13
m/hE 3TH 34 37 33 42 35 36 60 48 40 37 52 37 36 40 43 37 42 36 33 43
NG 4TH 29 22 15 25 32 23 25 28 25 26 24 34 33 31 28 22 30 30 26 21
m/NE 5TH 35 26 37 33 30 27 37 39 32 33 25 41 39 27 41 36 37 25 23 28
m/hNE 1TH 17 17 14 19 27 18 18 14 23 28 27 21 29 17 27 23 22 21 20 13
B S 2TH 28 24 33 35 44 40 27 36 32 37 32 29 31 31 25 22 32 29 26 18
B S 3TH 17 23 22 30 30 29 32 24 28 32 30 17 29 26 26 33 31 30 24 20
B 4TH 34 30 28 30 27 25 36 24 33 24 32 27 28 14 33 19 19 34 20 14
B S 5TH 27 17 20 21 37 23 33 38 27 28 25 32 34 37 33 30 37 29 28 18
B 6TH 23 27 31 21 24 38 27 20 30 25 28 27 29 29 28 33 34 27 35 23
B S 7TH 54 26 51 35 53 38 48 56 52 56 50 37 45 43 49 40 40 41 36 41
B 8TH 32 26 33 23 33 31 31 36 34 26 21 28 29 20 32 37 26 18 10 21
d/hE 1TH 16 9 17 20 22 16 20 18 22 20 16 16 17 23 17 21 16 20 19 12
d/hE 2TH 31 33 43 40 49 50 44 43 42 49 44 34 37 40 48 28 51 53 27 37
d/hE 3TH 17 15 20 11 17 17 20 12 30 17 17 17 24 19 14 16 19 24 11 13
d/hE 4TH 43 35 47 24 37 33 45 31 41 42 51 23 37 31 36 48 22 29 25 36
d/hE 5TH 29 19 22 20 24 25 25 21 22 23 32 17 20 17 21 13 16 27 19 15
d/hE 6TH 39 35 36 26 39 27 40 31 43 40 45 34 50 35 51 28 29 40 20 22
d/hE 7TH 20 18 19 24 39 32 27 24 36 28 26 23 26 18 20 16 18 24 27 17
dt/ha 8TH 29 23 33 29 28 45 38 32 41 28 37 35 35 29 23 27 34 26 23 23
&5 757 667 766 713 865 789 859 777 888 810 835 716 822 718 811 725 750 753 602 574 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SH45E1A1H
7R 56% 575% 587% 597% 607% 617% 627% 63i% 647% 657%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 25 23 22 26 31 32 28 19 30 16 28 24 17 20 18 24 26 19 16 12
HINE 2TH 12 10 12 14 11 8 11 8 11 4 16 10 7 5 9 12 6 11 12 11
ENY= 3TH 32 21 20 13 27 20 17 17 18 16 10 15 16 16 15 14 12 7 15 15
HINE 4TH 28 30 28 21 23 17 24 23 19 17 17 16 21 10 17 20 20 19 19 13
HINE 5TH 24 28 26 24 22 29 17 30 31 29 28 32 22 16 15 22 25 12 26 16
ENY= 6TH 20 35 23 20 28 18 16 18 23 19 15 14 18 20 18 19 16 21 18 17
NG 1TH 32 29 45 47 40 38 31 26 26 41 30 24 25 26 29 18 31 18 29 19
LN = 2TH 12 11 17 14 17 13 14 10 9 10 14 12 7 14 11 4 8 7 11 13
NG 3TH 50 38 34 32 48 36 27 40 28 22 21 22 20 34 35 35 30 30 34 19
NG 4TH 32 18 22 24 28 20 25 19 18 15 16 18 21 17 18 21 16 17 24 14
NG 5TH 30 41 28 30 27 25 26 18 21 21 24 26 26 20 24 10 25 19 20 13
m/INE 1TH 17 22 17 17 17 17 12 9 10 13 13 13 10 7 12 9 11 4 7 9
mE/NhNE 2TH 31 31 22 28 27 23 21 21 21 16 25 24 17 19 17 13 15 6 21 10
m/NhNE 3TH 34 22 30 21 19 18 34 23 27 18 15 23 15 16 29 13 17 16 17 14
mE/hNE ATH 26 27 25 25 24 23 23 19 28 14 12 12 17 22 17 15 22 20 21 12
mE/NhNE 5TH 29 22 26 29 29 35 26 32 28 24 36 26 27 20 17 31 20 17 22 21
mE/hNE 6TH 34 20 26 21 30 37 22 22 27 24 20 32 31 16 28 23 25 19 15 24
m/hNE 7TH 37 30 49 38 43 29 32 25 39 32 32 31 35 25 30 33 25 25 32 24
m/hNE 8TH 26 25 25 18 25 15 17 17 23 27 28 19 21 25 19 22 15 19 15 14
d/hE 1TH 15 8 14 8 18 19 8 17 13 10 14 16 7 15 11 12 18 16 17 15
d/hE 2TH 44 41 45 56 34 32 34 33 37 31 39 35 27 24 32 35 21 21 22 28
d/hE 3TH 24 19 14 11 25 12 21 16 10 16 12 13 9 8 15 12 10 13 11 12
d/hE ATH 29 31 27 34 35 28 31 28 21 19 25 31 31 16 20 20 25 19 25 15
d/hE 5TH 21 20 17 20 23 23 23 17 8 21 15 21 25 12 19 21 14 16 17 20
d/hE 6TH 40 18 22 27 30 22 25 27 36 31 22 19 32 22 26 32 36 15 21 30
d/hE 7TH 22 22 14 11 20 14 15 19 18 15 23 19 20 25 17 14 11 12 23 5
dt/ha 8TH 25 27 26 22 29 21 37 25 19 19 20 24 13 19 28 13 21 13 20 19
&5 751 669 676 651 730 624 617 578 599 540 570 571 537 489 546 517 521 431 530 434 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SHM4%E1H1H
R 667% 677% 687% 697% 705% % 125% 135% 145% 15i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g
HINE 1TH 25 19 14 24 19 19 18 19 22 26 23 23 30 29 26 18 20 24 14 26
ENY= 2TH 7 5 17 10 8 5 8 7 8 7 7 7 14 9 11 18 12 14 4 7
ENY= 3TH 11 8 17 12 18 7 15 7 12 12 16 18 17 29 19 18 16 14 11 17
HING 4TH 13 16 20 25 13 18 21 16 14 19 25 11 27 26 34 29 24 20 14 22
HINE 5TH 16 20 17 17 18 17 19 21 17 21 21 33 29 24 36 32 22 28 17 19
ENY= 6TH 20 15 18 15 12 25 21 12 24 16 21 23 17 25 20 30 28 28 9 25
NG 1TH 24 36 25 20 23 24 29 31 35 34 19 36 27 38 40 23 36 36 25 26
NG 2TH 11 18 15 11 11 7 14 12 22 9 8 9 14 14 16 16 13 16 14 15
NG 3TH 25 27 27 28 37 25 27 25 38 29 45 30 37 36 29 43 27 35 14 31
NG 4TH 21 13 22 17 18 18 16 20 14 17 15 24 14 25 28 26 20 24 17 16
NG 5TH 17 23 20 21 12 18 19 15 24 22 24 14 26 23 27 19 18 31 17 17
mE/INE 1TH 12 12 10 11 10 8 14 8 8 13 15 10 12 11 17 13 8 9 7 9
mE/NhNE 2TH 12 13 13 17 18 21 13 20 22 21 26 23 25 32 27 33 25 34 26 31
m/NhNE 3TH 20 12 20 19 17 14 10 24 21 11 15 17 13 17 24 23 28 17 14 17
mE/hNE ATH 13 20 12 15 22 22 20 21 14 17 15 17 22 19 26 31 15 27 13 14
mE/NhNE 5TH 24 14 22 19 24 16 31 20 16 21 25 19 22 19 29 19 30 22 19 19
mE/hNE 6TH 25 20 27 23 26 17 21 32 23 25 28 32 41 31 30 26 31 40 17 20
m/hNE 7TH 22 18 15 27 21 31 25 32 33 25 33 34 38 52 33 45 37 43 28 31
m/hNE 8TH 21 17 22 15 25 14 16 17 22 15 19 22 17 20 23 15 20 31 13 21
d/hE 1TH 8 10 15 15 18 16 12 12 15 14 12 20 12 15 13 29 16 13 11 9
d/hE 2TH 31 38 24 29 28 26 22 44 38 30 41 44 45 41 43 29 37 40 23 25
d/hE 3TH 12 18 12 10 17 9 10 13 11 21 17 16 27 20 23 18 15 16 11 11
d/hE ATH 28 25 21 26 27 15 16 24 23 28 24 15 27 32 31 28 29 33 17 21
d/hE 5TH 15 25 12 17 21 11 20 17 17 18 18 21 20 18 29 24 28 34 18 17
d/hE 6TH 27 18 35 20 19 25 27 31 27 25 35 26 38 33 40 26 36 33 21 29
d/hE 7TH 14 23 21 14 11 17 11 20 19 12 13 23 27 10 19 22 24 25 11 15
dt/ha 8TH 19 22 24 12 17 17 21 17 13 21 25 15 17 30 33 23 17 22 15 21
&5 493 505 517 489 510 462 496 537 552 529 585 582 655 678 726 676 632 709 420 531 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SH45E1A1H
R 767% 175% 787%% 79%% 807% 81%% 827% 83i% 847% 85
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 11 17 11 21 22 21 18 24 19 23 14 23 19 17 13 16 12 17 11 17
ENY= 2TH 6 9 11 12 5 8 9 12 9 10 6 4 2 11 5 7 4 7 3 1
ENY= 3TH 17 10 21 14 15 15 11 14 11 19 11 5 9 15 10 13 5 8 5 10
HINE 4TH 16 14 17 24 11 20 22 18 16 26 10 22 13 11 9 22 15 19 11 15
HINE 5TH 11 11 15 20 17 25 14 22 16 15 18 14 10 17 8 11 10 15 12 17
HING 6TH 11 14 17 12 8 20 23 17 12 16 14 16 7 11 9 8 7 23 8 16
NG 1TH 15 22 30 31 16 21 14 32 12 33 20 29 15 23 12 8 5 9 13 37
NG 2TH 5 11 6 10 7 7 9 18 7 8 9 7 5 6 1 10 2 7 3 10
NG 3TH 27 17 25 29 15 27 15 19 20 26 13 28 12 20 14 30 15 25 8 14
N = 4TH 16 17 13 17 17 21 10 17 13 23 12 13 9 15 7 13 6 15 4 10
NG 5TH 11 12 15 13 17 18 11 19 9 14 11 12 6 13 9 9 11 13 6 15
m/INE 1TH 7 11 7 16 8 10 10 15 12 12 5 6 7 13 14 16 8 15 10 4
mE/NhNE 2TH 14 23 17 17 16 31 18 35 11 30 17 31 17 22 14 26 17 30 10 29
m/NhNE 3TH 12 21 14 22 15 16 15 22 19 22 14 17 8 17 12 10 7 16 11 16
mE/hNE ATH 17 14 14 18 14 22 25 23 20 21 9 28 11 13 12 18 11 13 6 21
mE/NhNE 5TH 17 17 21 16 21 20 12 29 14 22 9 20 13 17 7 16 9 23 11 17
mE/hNE 6TH 18 29 31 40 22 21 17 13 17 22 8 26 11 19 10 18 12 14 13 20
m/hNE 7TH 19 27 30 28 34 44 28 30 22 40 15 26 19 31 14 26 19 31 17 23
m/hNE 8TH 14 17 13 22 15 16 15 25 16 6 16 11 7 17 6 18 2 10 8 7
d/hE 1TH 9 13 5 10 11 15 9 15 7 14 5 10 3 3 2 3 2 10 5 9
d/hE 2TH 21 28 23 27 21 23 18 27 12 24 14 36 10 24 12 17 13 23 10 20
d/hE 3TH 6 7 15 13 7 11 16 18 7 18 8 12 8 15 7 11 6 13 8 9
d/hE ATH 22 17 15 26 18 31 17 30 21 24 12 30 7 15 13 19 15 21 19 10
d/hE 5TH 17 12 12 10 14 20 16 13 14 19 15 18 8 13 4 12 4 14 11 16
d/hE 6TH 20 23 18 32 20 20 21 24 19 31 14 26 21 15 8 17 13 21 10 17
d/hE 7TH 13 11 12 19 9 14 17 17 16 14 12 14 9 17 11 19 7 15 5 16
dt/ha 8TH 12 14 18 20 10 23 17 16 20 22 16 19 17 23 12 10 11 15 11 21
&5 384 438 446 539 405 540 427 564 391 554 327 503 283 433 255 403 248 442 249 417 |

9/ 12 R—



BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SH45E1A1H
R 867% 87 88i% 89i% 907% 9158 927 93 947% 955%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 10 12 9 19 6 5 5 9 3 6 1 9 1 6 2 6 1 3 2 1
ENY= 2TH 2 9 3 6 1 2 0 3 3 7 1 5 3 10 5 3 1 1 1 1
ENY= 3TH 7 16 6 11 4 7 3 7 8 6 4 7 0 9 2 3 0 4 4 3
RING 4TH 8 23 11 13 4 10 7 21 4 12 2 11 5 12 4 7 1 4 0 1
EXINY = 5TH 4 27 5 11 7 10 4 13 7 7 2 8 2 4 1 7 2 7 2 3
ENY= 6TH 9 19 5 6 10 13 2 15 6 8 3 5 1 6 3 5 2 5 0 2
NG 1TH 15 18 4 16 10 18 4 11 4 13 5 5 2 8 3 7 0 6 0 7
NG 2TH 5 5 2 6 8 4 2 1 1 5 1 6 0 4 0 7 1 2 0 2
NG 3TH 17 25 14 15 7 15 6 12 8 17 5 14 8 16 2 9 4 5 7 4
NG 4TH 9 13 4 20 6 14 5 9 3 7 5 5 0 5 1 3 1 3 2 2
NG 5TH 3 10 2 10 3 8 1 9 4 13 4 5 1 8 2 5 1 2 3 1
mE/INE 1TH 4 14 4 6 4 4 3 7 2 4 1 4 1 0 0 3 0 3 1 1
mE/NhNE 2TH 14 28 17 11 8 15 5 11 8 10 4 7 3 9 0 10 1 4 1 0
m/NhNE 3TH 6 15 8 7 5 13 1 8 3 9 7 6 5 5 2 9 0 4 2 8
mE/hNE ATH 8 20 7 13 11 10 4 15 5 8 2 11 1 6 1 1 0 3 0 1
mE/NhNE 5TH 6 18 6 13 3 13 3 10 7 14 4 7 4 9 2 9 2 10 2 3
mE/hNE 6TH 21 15 5 17 11 13 8 13 4 20 1 6 2 12 1 9 1 5 2 7
m/hNE 7TH 19 24 11 18 11 16 9 15 5 8 3 15 2 6 3 2 1 3 1 6
m/hNE 8TH 7 9 2 17 3 10 7 7 1 7 9 6 0 4 0 3 1 4 0 2
d/hE 1TH 3 11 5 3 3 5 3 5 2 7 2 2 1 1 0 3 0 3 3 0
d/hE 2TH 15 22 8 19 6 13 6 10 7 9 8 16 2 8 3 9 1 3 1 1
d/hE 3TH 7 10 5 5 4 6 1 5 4 5 2 2 0 3 2 2 2 2 1 4
d/hE ATH 15 15 8 14 7 12 7 13 5 7 4 5 4 12 0 5 1 5 0 6
d/hE 5TH 5 13 5 1 2 8 7 6 3 11 3 10 1 4 0 10 2 3 1 9
d/hE 6TH 6 12 8 16 9 12 9 14 5 10 3 10 5 5 2 4 2 4 0 4
d/hE 7TH 5 12 6 11 10 15 4 10 4 6 4 14 3 5 0 5 1 6 0 2
dt/ha 8TH 7 16 5 13 7 9 0 10 6 11 2 6 3 8 2 4 0 1 0 1
&5 237 431 175 327 170 280 116 269 122 247 92 207 60 185 43 150 29 105 36 82
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SH4FE1H1H
R 1067 1075% 1085% 1097% 110%% 1115 125% 1135% 1145% e &5
5 = L = g8 = g8 % L ©

HING 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2047 2,040
HING 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 823 821
H/IMNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,403 1,333
XN = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,698 1819
HINE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,838| 1,896
H/IMNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1608 | 1,626
m/IhNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2616 2,629
LN = 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,110 | 1,045
m/IhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2560 2,650
N = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1630 1,615
m/IhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1925 1,864
m/hNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,083 | 1,059
mE/NhNE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,641 1,776
m/NhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,722 | 1,632
mE/hNE ATH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0/ 1608| 1,616
mE/NhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1930| 1,858
mE/hNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1974 1,977
m/hNE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2757 2714
m/hNE 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,811 1,740
d/hE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,109 | 1,162
d/hE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2593 | 2668
d/hE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,282 | 1,242
d/hE 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2312 2169
d/hE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,509 1521
d/hE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2335| 2246
d/hE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1614 1,626
dt/ha 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 1,816 | 1,888
&5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 48,354 | 48,232
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